Tp
Neil.

Ne9,

Ne10.
Ne11.

Ne12,
Ne13.
Ne14.

Ne15.

. 2sinx < sin2x cosx, MyHJiaFrbl X € l—— —

. Sin2xsin2x > 2cosx, MyHJarbl X € l—— —

. |Sin (Zx —g)| < -

UTOHOMETPUSJIBIK, TeHCI3AIKTepAl ey a3aicrepi
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19.3-cabak TamncbsipMaJjaphbl:

sin?x — 2sinx < 0

. cos?x ++/3cosx =0

T 31
4

T 3T
4

. V2(sin2x + sinx) — 2 cos x < 1, MyHzaarel x € [0; 7]
. cosx+cos2x +cos3x <0

. cosx cos3x < 0,5cos2x

2

|cos (Zx + )| g

cos2x — 5 < 4+/3sinx

> 8

. 3
4sinx + —
SIinx

cosx - tg2x >0
|sinx| > |cosx|
4(sinx?x — |cosx|) < 1

5—4(sin’x+cosx)

<0

CoSx

. 5sin? x + sin?2x > 4 cos 2x
. 6sinx-'cos2x —2sin3x <4

. Sin3x > 4sinx-cos2x

@maximum_abik



@maximum_abik



